ERER 20214 ($F134) ~2023%F (HH15%) F4
BHE-BE AR a3 g EER EER FpRY FoRy F5NAZTD F5NAZS
—————————— (& - —HKE - | HE: - | E B | HE: g | K E - | HE: - | FE - ——<HE: -

WESES 106,820 £ [E 71,166| 2 FH 162,064 2 [F 21,665 2F 58,783 & [F 2811|2H 17,525 £H 1,954 £H 2,798
113:8H 127,484 #rimth 88,298 |#Frimmh 194,631 | FHFEHRX &} 27,206 tH¥E[R 68,713 EI&H 3441 KB 21,272 |F AT 3,050 | B[ h 4,108
2 R ER X &R 126,801 R AR X &R 88,120 FZE™H 190,994 FxAH 26,890 FkHET 68,444 | F5RE™H 3349 EIRET™ 20,862 | B[ T 2,802 #MATH 4,106
3\ HEET 125,699 1&;ETH 87,478 HHIERE™ 190,446 1&;ETH 26,665 | BRI AR X & 68,267 ¥ TTh 3,335 HHIE R ™ 20,127 | LUz 2,682 L& 3,775
4\ FEH 124,642 FEH 84,766 |1&;ETh 188,945 | fB1Z /R h 25547 |t&ETH 67,109 FF&HFm™ 3,326 | ¥ E 19,947 i& 2,548 fRIE[RE T 3,587
5 &R 123,290 +HIEERE™ 84,163 R FARX &P 183,985 #Friath 25,080 Friam 66,624 t2 5™ 3,314 FkATH 19,699 KiEmh 2516 ELUTH 3,578
6 fRIRR T 120,967 EERTH 82,472|F\HT™ 180,048 | 1Lz 24,928 FEm 66,131 FAET™ 3,268 |##iETh 19,604 ELUth 2,488 LUz TH 3,574
78 @EH 120,312 ELV=E T 81,708| &L Vf=FTh 179,301 | IR TH 24,748 | &% ™ 64,657 Fria 3,239 FEm 19,249 f8H 2,486 K:ETH 3,553
8|&LV=FTH 119,689 | FkETH 81,552 K& 177,493 & 24,728 KiETH 64,186 ;E¥ATH 3,234\ Fiath 19,232| &% ™ 2,397 | &R 3,468
9 Euh 118,497 )15 h 80,624l & 176,864 FEh 24,672 R¥ 63,929 F & 3,171 g™ 19,081 FR#&RTH 2,393 H&HH 3,313
10|11 I 117,571 F#fEH 78,552 | I ERTH 176,432 F&fAH 24,591 {ll& T 63,844 tHIZ[R T 3,170| B[ h 19,054 #L 1% 2,388 FEH 3,287
11| K#EH 116,930 K;ETH 78,179 | 8% 174,385 )15 tH 24,551 | B[l mh 63,520 1 EmH 3164|285 19,006| 2R 2,380 #ETh 3,287
12| lURsH 116,334 ELtH 76,904 |J1[I&TH 171,820 FF%H 24,548 | IRERTH 63,510 | B[ TH 3,152| KiETHh 18817/ &XE™H 2,380 Frimm 3,276
13{lEH 116,082 {li&H 76,296 KEFTh 171,497 #LiRH 24,485 | 1| I&tH 63,223 | R RABX &R 3,049/ E1UTH 18,520 tHAEIRETH 2,374 &Rt 3,264
14| BEREH 115,957 KBRH 76,201 | KPR 170,381 BERATH 24,263 F & 63,137 R E™ 3,026 | FR&ARTH 18,491 | Friath 2370 =R 3,222
15 B¢ ™ 115,605 f#HE 76,186 | B[ 169,712 f2 & Th 23949 2 BT 62,719 BEAT 3,020 [ #33Th 18,358 | R AR X &B 2,322 R R ERX &R 3,208
16 {28 114,732| &2 HETH 75,608 ¥E 169,136 =LV=FTH 23,926 & 62,570 JII&TH 3,018|BEATH 18,343 |#&;Emh 2,309 B HET 3,198
171/ &ZB™h 113,656 ;R th 74,535 B HET 168,982 K;ETh 23,920 SLV=FE ™ 62,269 [ E&TH 3015/ [ & 18,339| FEH 2,280/ ELV=FE T 3,189
18|&/RH 112,837/ &£ BH 74483 =BT 168,718 KBrh 23,805| LUz 62,099 f2[E™H 2997 2 HET 18,314 3Rth 2,233 F&@tH 3,176
19| KB 111,770 LUz TH 74,349 ;E¥ATH 167,539 ELLUtH 23,468 ELUTH 61,851 F1UtH 2,986 | R HARX &P 18,302| KB H 2,199 HiiB™H 3,103

20| #AFETH 110,819 ;E¥ATH 74157\ 5 #%H 167,114/ FtHh 23,403| KR 61,627 &R 2,950 ;E#A T 18,270 {2 &h 2,178|faHH 3,080

21| F&T 110,487 |3Rth 73,949 |HiETH 166,485 =B h 23,345 =R 61,219 KHth 2,940 3R 18,188 & i ETH 2,138 KBRtH 3,078

22 3Rt 110,450 E&TH 73,645 FHE T 166,199 2 G Emh 22,746 2 HE™ 60,166 | K;ETH 2,933 Kot 18,091 |84 fAH 2,134l Eth 3,058

23| B HET 110,007 | BERATH 734352 ETH 164,339 1Rt 22,669 HIET 59,905 & & 2924 =B 17,959 1| &5 vhH 2,104 |JII&tH 3,022

24| FHETH 109,773 &5 &% 72453\ #F ™ 164,337 &Rt 22,658 &R 59,313| FEmH 2,913 | LUth 17,957 I B th 2,102 |38 2,997

25 ;EMATH 109,312 &= H 72,006| Lz 164,275 ;E#ATH 22,131 ;E¥ T 59,065 EHRH 2,898 H & 17,771 &LV =F 2,098 FEETH 2,971

26 REFh 107,769 | #LiRH 71,300 E LU 162,571 ¥ I h 21,707 | ™ 58,709 | ALIRTH 2,889 | B & 17,708 | 1 F T 2005 2 &TH 2,966

27 RiItE™ 106,639/t L 70,337 EIRET™ 162,538\ L& 21,649 EWT™H 58,578 b il T 2,860;Fm 17,675 B Eh 1,936 #3Ih 2,962

28| f@HH 105,971 E&h 69,839| &R 162,286 | F &R = H 21,218 ¥ 58,362 | ¥A LT 2,824\ )1|I&tH 17,625 &#AtH 1,919 kPt 2,882

29 ¥\ ITh 104,493 ¥A:Ith 69,029 | RI&H 161,862 BEtH 21,191 | EIRET™ 58,288 A THET 2,824 SLV-E T 17,588 | #3iIth 1,902| #FTH 2,853

30 (AL i 103,961 BI#ETH 68,781 #aiIth 159,909 |t AL 20,805 |l B/ 57,795 #F 2,824 K ETH 17,383 | F &= TH 1,897 | #L 1R TH 2,750

31 BFFh 103,610 FRfFH 68,667 |4t fuil T 159,203 BRERth 20,638 FHETH 57551 =B 2,821 |FFr1LH 17,346 EiitaTTH 1,863 | F0FRLLUTH 2,746

32| #LiE 103,344 |2/ ™TH 68,045 | AL1% T 157,180 B fFtH 20545 [ BT 57,195/ {ll&ET 2,810/t AL 17,299 ;E#ATH 1,853 KEth 2,673

33 R 101,892 AR ERTH 67,559 |l B 157,014 B8 th 20,354/ KB 55,430 | = 40TH 2,801 KPR 17,102\ E&™H 1,850| EEth 2,654

34)kKF™ 100,951 | RI&TH 67,325 R fF 156,916 | = %0tH 20,034 B fF 55412 K 2,797{&E™ 17,036 | FOFR LT 1,849\ [ BT 2,639

35 &R 99,844 t2H ™™ 66,843 |t2[E 155,247 |$8f™TH 19,979 | F0FRLTH 55,404 | S -FE T 2,791 |t2RE ™ 17,003 A ERTH 1,845\ fEE™H 2,609

36 I B 99,346 | [L & 66,671 |AEATH 155,104 $8FH 19,744| KX H 55,385 | ARERTH 2,767 |k B 16,980 B fFtH 1,799 & & ™ 2,602

37 #E;E 98,191 | Ik B 64,997| KXo 154,063 |l B th 19,533 | #L0R 54,934 FHETH 2,758| RI&™H 16,908 | = &0th 1,750 BRERth 2,576

38liEE™H 98,073 EER 64,566 K B 153,732 BI{ETH 19,303 =¥ Th 54,180 [ LT 2,757 | S iNTh 16,799\ K Fth 1,727 R fFH 2,545

9| LET 97,148 JKFTh 64,214|[L & 153,561 EEIRET™ 19,303|;EH 54,101 | KRt 2,667 LET™H 16,746 EE 1,726 & 40tH 2,530

0 ERET 96,224 FEIRE&TH 63,6931 & ™ 153,555 RI&GtH 19,239 |dt AL T 53,849 &R 2612 #ET™ 16,709 {£& ™ 1,689 &#ATH 2,525

41;EmH 96,207 B 62,757| BB 151,186 [ LU TH 19,0598 H 53,766 | LUz T 2,609 BER 16,675 [ELUTH 1,688 ;EtATH 2,408

42| Knh 95,656 ;& 62,733 | F0FR U 149,514);&H 19,024 K& H 53,627 fEETh 2,576 B FTH 16,611/ db L vh 1,592 #x LUt 2,272

43| BELH 95,423 KHth 62,680 | B I&TH 147,246 JKEH 19,008 | & LLTH 53,206 | R fF 2,568 &R 16,598 ;& 1,581t 2,263

44 fEE™ 93,793| =& 62,426 146,584 K 19,005 |BEARTH 53,121 |3Rh 2,530| LT 16,579 fE B 1577 2,260

45| feRTh 93,100 BEATH 61,575 =T 144,451 | = & TH 18,974| B I&TH 52,288 1LAT™H 2,468 FHETH 16,579 #21Lth 1,562 EIRE™ 2,235

46 | = IFTH 92,879 & %0 61,479|fEE™ 144,255 &#ATH 18,898 | &[T 52,234 KT 2452 fEE™ 16,490 f&[ETH 1,538t AL 2,150

47 St 92,065 fEETH 60,939 | LT 141,978 ¥A1ILTH 18,666 fEE ™ 51,164 FIHE™ 2,439 | ¥ UTH 16,100/ ILOTH 1,512 |f&fh 2,053

48 S4ITH 90,569 | #A LU 60,904 ¥ LUTH 141,088 {E&H 18,486 | #ALUTH 49,755 f8F T 2,420 | fL1ETH 15,318 K&t 1,449 = % tH 2,041

49\lLOH 90,179 R LLTH 60,289 |f@H ™ 140,089 | fEE ™ 18,4778 FH ™ 49264 S¥ATH 2,387/ lLAOH 14611 BIRE™ 1,447 K5th 1,982

50 AU 89,810 =#Ath 58,933 | BB F ™ 137,065 | #08xLLUTH 18,408| & %Nth 49,126 ;Eth 2,374 & 50H 14,235 B & 1,426 RI&TH 1,953

51 @ L 88,754/ IlLATH 58,849 | & %1t 134,982 | BEARTH 18,150/ lL@ 49,053 F1Fr LT 2,282 |f@H 14,091 BEARTH 1,319|BEAKTH 1,950

52 #FrLH 88,717 #nFr LT 58,481 |ILATH 134,750/ lLOTH 18,098 ARERTH 46,292 I B 2,265 AR ERH 13,313/ K& mh 1,284/ ILOTH 1,912




ERER 20214 ($F134) ~2023%F (HH15%) F4
[F<E0Y [E<ELY E ¥ LAR LAX Joyal)— Joyal)— AL
—————————— <& BB BB g | KB B | ——<HE: - | E - W - | E - | ——<FE: - | <& -
WESES 1,244 £ H 8,319| 2F 3,301 2F 4,594 2 F 2,504 2[F 6,058 £F 2,321 2F 4,761 2F 980
138 1,800 KPR 11,049 | F%[E™TH 4,221 HERANXER 6,014 fB¥E R 3,407 | fB#E[REH 8,618 H&ETh 3,026 tH¥E[R 6,317 & &% 1,459
2| K 1,761 3R 11,009 | 3 == &R X &R 4144 FEH 5,981 |8¢[E ™ 3,305 &% 7,609 | #kHTH 3,023 #ETh 6,050| & ER 1,314
3| AR 1,670\ KiEmH 10,847 | &R TH 4,117 &M 5,955 R AR X &R 3211 AR &R 7,530 ¥t 2,956 R ARX &R 5,842 BRERTH 1,273
4 FEBTH 1,615|&XBEtH 10,742 |#&;ETH 4,092 #ETh 5,898 |1 /ETH 2,995 ELV=F T 7,489 | tHE[R T 2,927 #ETH 5,840| Lz 1,265
503U 1,513|=&RTH 10,545 )11 4,023 )11I5TH 5868 FET 2,939 FEH 7,432 | B 2,897 Fiath 5,833 #Frimam 1,253
6| KEH 1,508 | #0 &k L TH 10,521 | KRt 4020 F&HF™H 5818 | SL =& 2,916 #ETh 7,389 B & 2875 ™ 5,824 | BE[ETh 1,233
ki Vakiil 1,467 f#F T 9,553 B HET 4,010 fHFEE ™ 5,785 |1l I&tH 2,863 HItE™ 6,935 SLV-E T 2,844 |JII&tH 5,722 #HETH 1,209
8 =%0th 1,461 ;E¥aTh 9549 FEH 3,937 Fiamh 5,647 ;E¥TH 2814 BBRFTH 6,895 | R HARX B 2829 H&H™ 5,716 #3I 1,208
9/fEETH 1,426/ fEE™H 9,370 K:Eh 3,922 #ATH 5,603 ARERTH 2,767 1|5 tH 6,711 & 2,796 SLV=FTH 5,561 | EI&TH 1,208
10| EER 1,414 E1UTH 9,077/ 4B¥R[R T 3,866 =LV -FTh 5541[1R 2,724 FE=H 6,427 = LUTH 2,785 FEH 5459 {E&E™H 1,196
11 EWmH 1,405 K% h 9,003|SLV=F T 3,787 lhEThH 5,307 K:ETH 2,681 K:EMH 6,386 {@ &t 2,731 | FR&RTH 5406 fEE'RE™ 1,181
12| & 1,393 &#ath 8,998 ;EMATH 3,719 lUfsh 5,261 | KRrh 2,676 BRERTH 6,380 AREATH 2,713 B#RE™H 5,337 L il 1,176
13| #L1R T 1,375| 8% [ ™H 8,985 | T 3,692 &R 5,192 | FR&RTH 2,664 ;E¥ATH 6,318|B¢[E ™ 2,690 | LLUfizTH 5299 | BEATH 1,142
14{EE™ 1,356 FEH 8,880 3& 3,648 A HET 5116 BBfFH 2,622 R¥H 6,113 )11 2,685 HiItE™H 5293 L& 1,137
15/ L 1,355 | #m8tH 8,854\ L& 3594 KETH 5112| F&# = 2,619 KFrh 6,035/ LUz TH 2,649 Is; B h 5254|285 1,136
16 #3iImh 1,347/ 8H 8,840 | #¥iITh 3570 FEETH 4945 F&HF™ 2,610 38 6,022| &R 2,618 B 5,244 KR 1,119
17;E¥™ 1,347 | R AR X &B 8,792 #FiAamh 3,464 ;EATH 4,882 =B 2,596 & H B 6,013 =B 2,615 #NTH 5212 | R AR X &R 1,094
18| 5% [T 1,328 E&TH 8,768 =R 3,451 | FR&RTH 4813/ T 2595 F&H&M 6,011 |F&=TH 2613 ELUH 5,165| K5 1,082
19 Ri&™H 1,317 BELH 8,748 B & 3,406 ¥ ITh 4,794 FHETH 2,565 P 5917|FFEH 2578 FEE™ 5,162 &R 1,066
20 #luth 1,312|#B1R /R h 8,666 ;& 3,388 f@ETh 4,765 #rimh 2528 R 5,875 | &RTh 2,572 | B[ 5,150 E LU 1,056
21| &R 1,307|db LT 8,643 &R 3,349 ALIRTH 4,756 B HET 2,500 FRERTH 5,875 fLIETH 2541 ER™ 5,149 t&ETH 1,037
22 @ L 1,305 E¥th 8,637 At Lt 3,314 BETH 4,754 4L L T 2461 #Friam 5,862 EEF 2,460 K;ETH 5,135t 1,036
23 #@ATTH 1,303 | ¥ Emh 8,554 | FNHTH 3,299 €& RH 4,679 ELUTH 2,457 I B 5858|[5 BT 2,453 R¥rh 5107 |# LU 1,028
24 B HET 1,303 Z E ETH 8,460 | ALIETH 3,298 K:ETH 4590 ERET™ 2450 IR ETH 5,610/ K& 2450 L& 5,062| /5 & 1,026
25 #himmh 1,300 = 40th 8,436 | LUz TH 3,258 Ik B 4577 & 50TH 2,436;Fm™H 5,542 B FTH 2,425 &R 5,055 | [ LU 1,026
26| B IG5 1,300 R W&™H 8,427l BT 3,231 Hi¥E™ 4560 BHEYH 2,429 | #1Zx LT 5,529 B EH 2,405 B HET 5,032 F&fET™H 1,024
27| R AR X EB 1,281 ;% 8,409 ELUTH 3,187 KBRth 4510/ #0TTH 2,410 ELUh 5429 T 2,403 KT 4,955 fEETH 996
28|[LET 1,281| I B H 8,272 EHRTH 3,160 EUtH 4,471 | Bi&H 2371 )KETH 5,388 ;EfATH 2,346 | fAETH 4,952 ELNV=FH 993
29| f@ETh 1,273 |l H 8,251 |lLA 3,140 [ ETh 4,440 ALIRTH 2,367 Kot 5319 8 ET™ 2,334 ;E¥ATH 4,873 fRIE[E T 985
30| Knth 1,254/ lLO7H 8,236 | B [ETh 3,137/ &h 4380LET™ 2,366 &R 5316/ t&8F 2314 285 4,851 AT 980
=k 1,252 &Rt 8211 | f0gx 3,135 HFFTH 4,380 | RiItE™ 2,362 FkETH 5,306 I B 2,307 KBt 4,819 S4%0tH 980
22LETH 1,246 EIRET 8,192 | LUth 3,082 #FETh 4215\ [ & 2,351 2#ATh 5,276 | ¥¥ITH 2,265 FHFFTH 4,759 1Lt 978
33|1EE™ 1,241 {l&E™™H 8178/l 3,078/:Fm 4,185 | &R 2,315 Bl&™H 5272|)KF 2,262 #L1RH 4,725 3R 972
34| HHE[RT 1219|488 8,173 BfFTH 3,059 =BTtH 4163 &R 2,297 #¥ITH 5,267 KPR 2,224 3R 4,725 S 967
35 FHM 1,219|)11 5 H 8,163/ & 2,999 KHth 3911 |/KF T 2,255 AL Al Th 5,246 3R 2203 EIRET™ 4507 HERTH 964
36 )11 TH 1,216|[L BT 8,120 | t&[E 2983 EEIRET™ 3,716 | B[ 2,243 REARTH 5,230 L AL 2,162 t&8Fh 4,483 KiET 955
37 &R 1,207 | &LV =FTH 81142 ETh 2978 f2HTH 3,713 ¥ Ut 2,240 EERH 5,226 | =& 2,159 FoFrUH 4,425 FHETH 945
38 | [ 1,174 #3luth 7,988 K4t 2,950 | [# LU 3,704| Knth 2,233 Rl&™H 5,218 | LU 2,089|db i 4379 EBH 933
39| FEH 1,171 |$8[H 7,961 KF 2915 R¥h 3,701 |luA™ 2,228 llETH 5,202 Ri&H 2,073 R 4,358 f@Hh 928
40;EmH 1,159 #3Tvh 7,830 = &0TH 2,907 AL Al Th 3,684 RlI&TH 2227 LB 5184/ B RE™ 2,049 ;M 4,349 B I&TH 916
4| ERET 1,153 L% tH 7,826 5¥aTh 2,884 #n&r LT 3,684|ILfizh 2,224 lUFzTH 5,146 ;& 2,040 =& tH 4,309 )15 TH 911
42| f@H ™ 1,130/ 7KETH 7,703 fEETH 2863 {E&E™ 3574 {2 ETH 2,203 {2 5,062 BiItE ™ 2,037 gEATH 4280 AL1RTH 907
43|SLV=FH 1,100/ F#& ™ 7,382 FHETH 2,839 &#ATH 3,495/ f8HH 2,156 # L 5,038| #0FR LT 1,991 Kot 4,231 ;EWATH 907
44 FEXRTH 1,092 BEARTH 7,252 | ¥ UTH 2,783 lLAtH 3487\ fEE™ 2,144 LTH 5,008 & 0TH 1,981 AREETH 4182 |IxETH 884
45|l B h 1,085 fk A 7,205 =I5 H 2,764 3 LLTH 3,376 =#ATh 213748 H 5,003| KXo 1,963 & th 4,135 FEH 875
46 K¥Fmh 1,083|F&ETH 7,194 f@8H 2,722 t&RE™H 3,374 F0Fxuth 2,129 SH0TH 4,988 | & 1,950/ [ LU 4,099 ZHET 872
47 IREH 1,062 giltamh 6,993 | RItE™ 2,711 BeARTH 3,366 ;&M 2,119 ALIRTH 4862 | HEARTH 1,924 2 luth 4,034 B FFTH 869
48| B fFT™H 1,041 R FFTH 6,895 'R E™ 2,656 fEET™H 3,295 BEATH 2,100 %[ 4,791 | ¥ UTH 1913|fEE™ 3,966 | FOFx L™ 864
49| FEEH 994 | BE[E 6,737 Rl&H 2,647 E&TH 3,246 |l B TH 2,099 1lLAT™H 4,699 S¥ATH 1,884 {EE ™ 3,932;Fm 862
50Kt 987|lLFzTh 6,281 |REART 2,561 550 2,975 K¥ 2082 fEET™ 4639|fEET™ 1,870 /{2 H 3,927|)KFth 833
51| LUfzth 934 f@FH 6,080 FRERTH 2,445 RIGTH 2971 |15 &h 2033 2™ 441218 1,772 &%1th 3,861 Hii4E™H 818
52 HiI¥ETH 928 ARERTH 5,538 K¥h 2,148 FRErTH 2,503 | A LU 2,016 f&8FH 4,085/ ILATH 1,691 1LAOTH 3,402 R¥rh 810




ERER 20214 ($F134) ~2023%F (HH15%) F4
L thDFEER hEERE BE B =DFEWNE IDFENG Conirg Cehilrd
———————— HE: g | E B | ——<HE: g K E - | HE: - | E B | ———<HE: - K E - | ——<HE: -
WESES 6,150 2= 6,550 £F 7,794 £F 18,644| £ H 55,113 2F 1219 2H 2,626 2F 2,776 £ [F 8,470
11 &8H%M 8,937 | lUfizh 9,307|lLufizTh 11,505 #Fri&th 22,599 imm 66,486 A ETh 2,117/ 4,699 FriAaTh 3,663 E%RE™H 11,301
2\ #hilamh 8,768| R R AR X &R 9,276 |FHTH 10,521 | &R TH 22553 FEH 63,810 & 1,643| K:ETH 3,496 | &% 3,640 Frilmmh 11,168
3 B[ 8,564 FhHTH 9,172LET™H 10,437 |¥&ETh 22,140 K:ETH 63,016\ K& 1,611 4lE™H 3,413} 3443 ELUTH 10,374
A\RATH 8,491 & ETh 8,801 ¥ 10,113| FFEH 21,404 | #E#E[R T 62,850 =R 1,562 | #riam™ 3,278 & ETh 3,406 RARTH 10,374
5/ lLfizth 8,386 i 8,747 R AN X &f 10,110 R AR X &R 21,370 #&mA 62,295 THRTH 1,531 FHEH 3173 EMTH 3,379 HHER™ 10,182
6 t2Em™ 7,741 | #L1R 8,719/ {2 &™h 10,064 fHIEE T 21,302 RE&RTH 62,240 #L1% 1,517/3R™ 3,153 BT 3363 ERET™ 10,170
G 7,485 2Bt 8,135 #&Eh 9,841 & 21,215 #EmH 61,321 P 1,500| #L 1 tH 3,144 | Im#kTh 3,306 KBRtH 10,034
8lE™ 7,355| FEmH 7,979 | fAR[R T 9,451 &R 21,180|3Rh 60,166 | #\Ih 1,466| X5t 3,143 1| H 3271 K:ETH 10,034
9 EHm™H 7,040 #FriBH 7,969 FEH 9,284 K;Eth 20,738 | FkEHT™ 59,924 &Rt 1,454 =R 2,989 HHIEE T 3,270 3Rt 9,990
10| BRI AR X & 6,953/ 115 H 7,731 38 9,162/ JI|I&H 20,429 & 59,566 12 [F 1436/)KETH 2967 =Bh 3,222 &ETh 9,985
11|£RT 6,938 | BE[ETh 7,624 =& TH 8,680 ELUTH 20,250 =R 59,410 g% 1,391 |f&[tH 2,897 f&8HH 3212 ;E¥ATH 9,826
12|#&ETH 6,678 HHIR[RTH 7,599 |SLV=FE T 8,670/ L V\=FTH 20,246 B HET 59,212/ {lli& 1,387 & %0t 2,895 K:EMHh 3,168/ 2 HET™ 9,583
13 RE™ 6,532 P T™h 7,437 KRt 8,627 HFETh 20,242 ;E¥ATH 59,155 A HET 1,379 ;XA 2,889 &R 3,109 FEh 9,575
14/ #3Ih 6,474 HHERTH 7417 | @™ 8557 =R 20,202 | R IEEBX &R 59,038 | fH1E[R T 1,351 | &R 2,874 KPR 3,105 =BT 9,549
15|&LV=FH 6,461 SLV=FH 7,397 LT 8,464 KBRtH 19,786 | LR H 58,866 FE'R B 1,335 F 2,862 | B AR X &R 3,086 K& 9,545
16| #L1R T 6,450 HFHH 7258 =R 8,450 ZHHE™ 19,696 | KPR 58,831 FH =T 1,332| B E™ 2,837 FEH 3,064 J11I5TH 9,508
17 HHEET 6,319 R¥h 7,247 3R 8,376 ;E#ATH 19,630\ &LV=FETH 58,699 i 1,312| FFEH 2836 EIRE™ 3,014 #L1RH 9,463
18£8 ™ 6,314 KBRH 7,138/ &R 8,373 &iRth 19,615/ & &HFH 58,348 | KRRt 1,293 | #HAE R T 2816 BHET 3,013 &R 9,294
19| BRI 6,243 ELUTH 7,104 )111&TH 8,357k Al 19274|EIRE™ 56,943 K& 1,291 5@ T 2,794 SWV=FTh 2,984 tHETH 9,223
20| Rt 6,123 &;Rh 7,030 AT 8,235 LUz Th 19,169 F&#RE TH 56,852 | 1k LT 1,285 EIRE™ 2,789 [L&TH 2,971 | R AR X &R 9,137
21K ETH 6,110/ K:;#E™H 6,955 | HItET™ 8211 FkETH 18,908 | B[ th 56,819| LU 1,280 E&™H 2,734 K& 2,969/t il 8,927
22| J1li&TH 6,088 ZRTH 6,934 H&H&T 8,196 {l&ET™H 18,831 F™H 56,745 23 1,270 E¥7th 2,711 {g8RH 2,960 F0Fr U 8,828
23 RIG™H 6,023 B E™ 6,766 AR ERmh 8,080 f2E&™h 18,796 | K& T 56,485 | R IR AR X & 1,252 | LR &R X &R 2,704 dL ALl Th 2,947 8L f=FHh 8,759
24 \[@LtH 5,975 1R 6,559 | K;Eh 7,968 FEFETH 18,715/t SLoN Th 56,195 & EX ™ 1,251 | lLfz 2,701 i ETH 2,924 HiAE™H 8,699
25| FEH 5,969 FE = 6,553 #L IR H 7,810 #8iI v 18,558 RE¥FTH 56,148 F¥Em 1,249 &¥Ath 2,676 #ITH 2,773 LETH 8,593
26/lLAT™ 5,902 &R 6,540 FHE=TH 7,738 @ FHTH 18,502| Z LLUTH 56,051 ;& 1,243\ ¥ ITH 2,663 Ko tH 2,749 | f2HTH 8,542
27 f&8HFH 5,902 FFFTh 6,162 B¥[E 7,546 B [E 18,501 | )15 tH 56,001 & ETH 1,239 |#ETH 2,656 FOFxR LT 2,715 [ & 8,498
28 dL A 5,897 HiIt&™ 6,146 |f@2[E 7,546 | LR 18,484 | Uiz Th 55,978 FNHTH 1,226 |l B 1H 2,643 & 2,707 #ETH 8,397
29 ;EHATH 5872 L& 6,079 [ & 7,540 REF™ 18,408 |2 5 55,472 ;BT 1,218|BilE™ 2,634 L EB™ 2,684 #AUTH 8,318
30 K&oth 5,847 f&RE™H 5953 E'RET™ 7,493 |2 18,325\ &R 55,458 | {E & 1,199| =& H 2,597 BFTH 2676 tEE™H 8,246
31|FHEH 5,846 ;EHATH 5911 BHE™M 7,440\ F & 18,203 |#33Ih 55,340 & 1,187 ;E#ATH 2,595 B Eh 2,669 &M H 8,244
32;&m™ 5,760/ db il T 5,884|db LM 7,300 K& 18,155 |Ril#BTH 54,452 | ELUTH 1,184/ &R 2,578 ALIETH 2,650 Kyth 8,238
33| KBrh 5,749 BRE;TH 5,765 ¥\ ITH 7,240 B fFTH 18,1098 H 54,282 = &H 1,179 ¥ 1UH 2,568 HItE™H 2,637 #AITH 8,209
34 REARTH 5,724 & %0th 5717 B 7,230/ & ™ 17,873 B KTH 53,459 )1 I& T 117948 H 2,563 I BT 2,591 BEARTH 8,092
35 &iTh 5,588 ¥AITH 5,668 ;EHATH 1172 BEIRE™ 17,703 | F0FR LT 53,287 R¥ 1,168|f25™H 2,556 | REEATH 2575 BT 8,089
36| K:EMH 5,567 ERh 5,636/ K BT 7153\ [ & 17,604 | B th 53,257 & 40T 1,164);EH 2,520 {8 B&Th 2,575/1lLATH 8,075
37| B RFTH 5,566 & H 5,588 | R fFh 7,066 | BRER T 17,524 B fFh 53,072| Xt 1,163|fEATH 2,519 #xluh 2,566 5 B2 Th 8,041
B ERET 5563 KETH 5576 SaTh 6,937 BiItE™ 17,226 K& tH 52,982 HifE™ 1,153 EEh 2516 FE = 2,550 BT 8,018
9| BHET 5,553 Ik BB 5,561 |BEARTH 6,906 K5 th 17,072|)KF 52,960 | X[ h 1,151 KR 2,482 ' =Bi&H 2,543 BT 7,956
40 B[ Hh 5517 & 5501 Kot 6,638 #AILTH 17,031 |f&[EtH 52,573/ il 1,140/ F&HFH 2414 1lLAtH 2525 tEE™H 7,805
41 )kBEtH 5418 EIRET™ 5,341 = &0tH 6,602 I B 16,897 |[L&TH 52,450 LR 1,122| )1 tH 2,401 #LATH 2510 F# = 7,762
2 LEET 5415 S 5,328|;EH 6,594 FnFrLH 16,641|;2H 51,463 I B h 1,121 #FcLth 2,389 [ LLTH 2501 F#&h 7,568
43| ZEB™H 5,390 Kyt 5,300 I B 6,581 REATH 16,595 B ELH 51,099 [E &t 1,113/ [LE&TH 2,383 | ARETH 2497 AET™H 7,481
44| Z 50 5,382 [ LLTH 5,096 f2FH 6,569 B HERTH 16,553 | & 50,925 |ELV\=FE T 1,109 | B[ h 2,370 5¥TH 2,459 7,472
45 ERTH 5104 fEETH 5024 fEET 6,392 E & TH 16,550 = #ATH 50,823 | #a LT 1,106 S VE=FTH 2,351 fEET™H 2,396 S TH 7,437
46 ¥Rt 5,056 #ALLTH 5,004 =I5 6,340 JKFTH 16,456 | #2LLtH 50,3132 & 1,057 | LT 2,297 R¥H 2,375 LU 7,305
47 #alUTh 5,004 EEATH 4,993 [ LTH 6,128 fEETh 16,408 t2HH 48,731 F#HF ™ 1,054/ f8HH 2,190 F#&h 2,350 )KETH 7,202
48 fEET™ 4,943 RIGTH 4,878 ¥ ILTH 6,102 ;Fm 16,319/ lLAH 48,256 FRfFTH 1,031 | B fFTH 2,164 | lUfisTH 2278 REfh 6,860
49 F0Fr LT 4,905 E&H 4,867 | F1FkILTH 6,100/ LLATH 16,319 | [ ILUH 48215 REARTH 1,013/dL g Th 2,161 KETH 2,258 | B [ETh 6,821
50 P/ Th 4847/ ILOtH 4829/ IlLOw 5953 &tTh 16,065 = &5 tH 47889 lLAtH 980/ E LU 2,078 S50 2,231 | lufsTh 6,819
51 B 4,637 FOFRLTH 4,646 EEB™ 5,806 | [# LLTH 15,823 &R 46,137 KFETH 955|lLAT™ 1,857 | &[T 2,222 S50TH 6,590
52| AREATH 4118 {EE™H 4518 RIGT™ 5,558 = &N 14,885 & %0th 44177 BRERTH 952 AR ERTH 1,808|;&H 2,199 FRExH 6,315
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Iy AL J) AL 3] =W\ A 1=L\CA IZALCA IZALCA 3] ZIFES -FEhRE
—————————— <& F- —<H®E: - | E - | E: g | E - | —<HE: g | <XE - | <#E: g | <E 8-

WESES 753 £E 1,345 £ H 1,603| £E 10,848| £ H 2,469 2[F 7,878| 2FH 973 £E 1,342 £H 3,923

1 WLURsH 1,896 | #r:amh 2,565 FRARTH 2,054 | B R 15,316 AR ERTH 3,621 FRE;H 9,692 {E & ™ 1,267 | BEfATH 1,954 &R TH 4,780
2\f@HH 1,524| Lz TH 2,335 IR AR X & 1,981|F&ETH 13,287|&LV=FE 2,991 | 9,403t fuin 1,231 K5 1,898 t&ETH 4,615
3\ Fhimh 1,424 B ETH 2,121 | BT 1,966 | 8% TH 13,223\ #r8h 2,937/ 3LV=F T 9,196|ILUfsTh 1,227 &&F ™ 1,875/ F &R 4,607
A BEHET 1,234 fERTH 2,106 | 5% @ 1,936 FEEm 13,182 4K 2,909 £ R 8,922 | BX[ETh 1,205 dt L T 1,823 | HHHEE T 4,498
5 =W 1,105|%8FH 2,101 | & ETH 1,906 | &R 13,158|f8&™H 2,890 ##&ETh 8,894/ lLAT 1,201 | #L 1R TH 1,720\ K;E™H 4,483
6 | BB 7 947 | Ik BT 2,047 #aH 1,904 k& ™ 12,949/ E1UTH 2,789 ;EMATH 8,800 FkHTH 1,183 IUFzTH 1,719 FEmh 4414

7|REARTH 947| Kot 2,019 #L1RH 1,888/ &L i=FH 12,780 | IR &R T 2,743 IR#&RTH 8,738 K& th 1177468 ™ 1,692 #F 4,387
8|tET 944 | FEmH 1,805|#EmH 1,882 HHIE[RE 12,707 |;E¥ATH 2,740 f2ETh 8,738 H & 1,133|BEARTH 1,649 & 4375
9 B I5TH 930 ;R TH 1,675 FEmh 1,859 #FiEth 12,682 | IR &R X &F 2,732 ¥AiITh 8,611 Fiah 1,131 kBT 1,647/ 1| I&vH 4310
10| 5% 8 h 927 =& 1,663 {@&™ 1,854 H R #R X &R 12,562 JI&H 2,723 B\RET™ 8,572 ¥t 1,092 k& H 1,633 B & X &R 4,292
11|FEH 927 EIRE™ 1,655 fB#E R H 1811|428 12,455/ 2R 2,706 =B tH 8,532 llEh 1,087 t2@tH 1,617 KFrh 4279
12/ AL T 927 #alumh 1,638/ &LV=FETH 1,793| #L 1R tH 12,403| FEH 2,653 KETMH 8,505 1R 1,081/ lLATH 1,554 &LV =FH 4,229
13| Ko 923 tAHE[R T 1,631 |1/ 1,792 R¥Fmh 12,382 | #8TTH 2,642 HETH 84352 ETh 1,075 K 1,551 |88 tH 4223
14 R 904 At LM T 1,624 3Rt 1,791 |#&EmHh 12,257 |1RH 2,635 FETH 8,420 Rl&H 1,069 Friath 1,521 B 4218
15| B EBX AR 887|E1LUTH 1,622 KBrth 1,775/ #ATH 12,125|fB#E R 2,597 |1RH 8,370 ;T h 1,064 B RE™ 1511 {4&E ™ 4,154
16| KEMH 860 ##;Eh 1,578 ¥ 1,774 &&FH 12,079 |f#F TH 2,587 RFAX &P 8,356 | AR 1,060 #3T T 1,496 Jb A h 4147
17| R&kmH 860| &% 1,555 &= Rt 1,750| )11t 11,847 | B[ th 2581 E&HFH 8,351 EEIRE™ 1,039 I BT 1,450 $rimmh 4,130
18R 849 RiI¥E™ 1,553 | ARERTH 1,730|Rii4B™H 11,721 £EB™H 2558 FE™ 8,316| &M 1,037;&H 1,437 3Rt 4121
19 ERE™ 807 3& 1,547 & &HF ™ 1,726 )KETH 11,637 # AT 2556 HHEM 8,291 FH = 1,026 R H 1,421 #3iIvh 4,081
20 FEHEET 796 | R fFTH 1,509 | #x AT 1,724 B fFTH 11,499 EEIRE™H 2,552 R 8,256 FEh 1,023 FEH 1,407 f&fh 4076
21 )1 795 R RARX &R 1,497|#FTH 1,723 =Bt 11,497 B E™H 2,527 fBE R 8,195 ETh 1,023/ &LV=FTH 1,403| [ &TH 4,037
22| ERW™ 789 | &SLV=FETH 1,476 {l&™H 1,718 B B EH 11,428 5 &% H 2,505 &% 8,152 ;B h 1,019| &R 1,392| R TH 4,021
23 |t 789|{EE™ 1,447 KiETH 1,693 ;EATH 11,395| 8% h 2491 FH#ETH 8,141 | K:Eh 1,001 | Bi#&™H 1,392 | LR 4,018
24| BRFTH 786 FHERE 1,427 B fFth 1,670/ LUz tH 11,367 | &= H 2,452 BERETH 8,139 ALMEtH 993 HFFTH 1,389|BEATH 3,999
25| &[T 776 | t2RE ™ 1,424 2 HEH 1,636 KB th 11,322| K;ETH 2,448 )11 TH 8,093;Em 985 MRIEE T 1,388 K mh 3,986
26| KBt 767 K;E™H 1,397k tH 1,631 dL A th 10977 MlETH 2444 E1UTH 7,989 BERT 985 @B 1,385 B%[EtH 3,964
27{EETh 763 | )| & 1,380| Z LU 1,627 3Rt 10973 E¥tH 2422 FH 71918 ELlLUhH 980 | K& 1,359 #X AT 3,954
28| E¥h 758| R 1,341 |2iRH 1,626 K;EMH 10,902 lLOH 2,391 HifE™ 7,849\ ELV=F T 980 #LUTh 1,351 21Ut 3,951
29| f@ETh 751 ER™ 1,341 E¥ATH 1,623 #FTH 10,878|[L&TH 2,388 HEATH 1847 &R 960 | E W& H 1,332| EIRE™ 3,921
30 #UTh 747 EW&H 1,321 db A h 1,592 BIRE™T 10,647| EHH 2,369 R FFTH 7,816 R ERX &R 957 |f&ETh 1,326 El&TH 3,915
31 LET 745\ KNI 1,316|BiItEH 1,557 | #0FkLUH 10,531 | Uiz h 2,360 KT 7,733/ 952 &Rt 1,324 2 HE™H 3,912
32 RIGH 142|285 1,312|f8HFH 1,505 FRERTHh 10,463\ K ETH 2,340 [LB&TH 7,689 | [ LU 950 FHE 1,304 ;EtaTh 3,911
33 ML 736 | BX [ 1,278 EEIRE™ 1,501 | B th 10,403 | #A LU TH 2,337 KBrh 7685 A HET™ 939 [ & 1,287 F&B = 3,872
34| 3LV =FETH 131|[LE™ 1,274\ lUfsTH 1,493 &Rt 10,162 ;& 2,335 llET™H 7,681 5 936 f2FH ™ 1,280 L& 3,780
35| 0Fr U 723 | &R 1,234 I E&TH 1,490 ¥A:TTh 10,153| K tH 2,334 I B h 7,651 BBfFTH 929 =R 1,278 &iRth 3,774
36| FH=H 717:&™™ 1,208|¥A;TTH 1470\ El&tH 9,842 BT 2,322 #LiRH 7,548 BT 928 ELUH 1,270 F0FrLH 3,759
37 HIET 698 ILOTH 1,189 EEH 1,455\ Z IlUtH 9,832 |f&[f ™ 2,300\ T 1495 LB 926 BHET™ 1,265 | [# LU 3,755
38|&iR™ 681 fEE™H 1,164 | #0 3L 1,451 &¥ath 9,807 EiI#E™H 2,290 lLFzTH 7,485 Ril¥B™H 909 | BRI AN X &R 1,261/ {88 3,665
39 METH 622/ )KF T 1,152 K& T 1,429\ [ B™H 9,734 | fLIRTH 2,279 EEH 1472 | Bi&H 907 ;E#ATH 1,259/ 1LOvh 3,627
40/ IO 606| #0Fr LU 1,147/ [ B 1,421 9,666/ [ LU 2,270/ lLOTH 7,239 |l B 898 1&h 1,249 EE™H 3,613
A [LEET 593/l ET 1,130 &#amh 1,382| EEth 9,471 | 5ATh 2,255 fEET™H 7,220 fBF T 893 EHnh 1,244 fEETH 3,599
42 588 B EYH 1,111 fEEH 1,380 BEATH 9,381 f@H 2,237 ¥ UTH 7,199 B¢ FEH 892 SATh 1,244 fxLlUth 3,592
43 )KETtH 532 &R 1,100 Kyt 1,351 fE & 9,303/ {5 & 2,226 tEEB™H 7187 R 889 | E%[th 1,240 I B 3,570
44 FXETH 522 | KFr 1,063 ;&M 1,339 XHth 9,239 | Ik B 2,209 RI&TH 7,158| &R 880 [ LLTH 1,208 f@FH 3,500
45 BELH 509 P 943 |f2[E ™ 1,337 | %8/ ™H 9,040\ Kt 2,160 {2 7,152|)11I&tH 867/ /KFth 1,180| Lz ThH 3,499
46 S HITH 483 SiATH 922 & %0 1,323 {£E ™ 8,996 fE BT 2,146 F0FR LT 7,148 KR 859| K 1,147 EF™ 3,492
47 St 479 E%0tH 904|lLATH 1,298 f8FH 8,870 RI&tH 2,126 f2[EH 7,145 =450t 813 AR 1,089\ 7K EtH 3,486
48 fEET™ 442 B LH 824 3 1lUuth 1,273 |l 8,571 REARTH 2,122 Kpth 7,094 KT 788 | fHFE ™ 1,084 &#ath 3,402
49 [ UH 421 |FX AT 764| =& H 1,232| & %0th 8,561 At il 2,056 [# LU 7,056 FRERTH 755 | )11 I& T 1,079|Ri#B™H 3,395
50 BRERTh 414 FHF™ 4571 E ™ 1,229| =& tH 8,470 El&tH 2,051 db 6,631 f8H 728 FFRIITH 1,069 | R ¥ th 3,376
51 #LiRH 308| #L1E 414Ut 1,219 #a3luth 8,455 54 1Th 2,026 = I&TH 6,594 | F0Fx U™ 718 &40 984|;Eth 3,342
52 & & 262 ARERTH 413 fERTH 1,208/ lLOH 8,450 FNFxILH 1,995 & %0t 5979/ ET 610 A ET™ 858 =& 3,317
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f=Fh&F nNACA nNAZA =T =T hIB DR E DB fthDEF
———————— HE: g ————XE F- | HE: g X E K- | HE: g K E E- | HE: g <X FE K- |————<HE: g
0 2H 15,579 | £ = 958 | £ H 1,229 ©F 699 | £ H 676 £EH 3271 &H 4715 £H 30,857 &H 47,370
1| KZEMH 19,299 &R 1,682 #Friam™ 2,096 LUFzTH 1,423| Uiz th 1,941 | R #B X &R 4,067 FLETH 6,923 Friath 40,619 | Friah 60,897
2| RERT 18,373 |#1:8Th 1,626 {E&™H 1,900 | R&RTH 1,178 ¥ 1,085 | ¥ KT 3,993 R¥fh 6,698 R R AR X &6 39,543 FEh 58,846
3 FEM 18,042 F5[EH 1,572 | 5% 1,883 Fiath 1,083 | F0FRILTH 1,050\ FEmh 3,990 F&HFH 6,653 FZEH 38,690 HHIZR T 58,503
4 FEBTH 18,014 #FTHh 1,335\ &Rt 1,773| FFEtH 1,046 FEH 1,004 FHFEE T 3,893 it 5,964 1#ETh 38,673 #/ET 58,247
538 17,824 K 1,328/ AL TH 1,688 |#&ETH 950 & 959 #xHT 3,840 R fFTH 5,888 L\i=FmH 37,537|&LV=FE ™ 57,065
6 fLiR 17,511 3R 1,280 ¥ 1Lth 1,617 R AR X &R 946 B HET 926 | HERT 3,794 | fAHR[R T 5,844 tRHE[R T 37,314 IR AR X & 54,993
1 &H%H 17,481 | =& H 1,247|FEH 1,597 ¥R 927 KBxth 878 KiETh 3,632l&E 5,695 FkEAT™ 35,755\ #EHTH 52,739
8|REAXRTH 17,123/ =B 1,203 |#&;ETH 1,566/ )15 876 ;EMATH 8121 i&thH 3,602 FEH 5,551 J11I&TH 35,644 | HIFET™ 52,087
IEE™ 17,117 ;E¥TH 1,195| B HEH 1,564 fHIEET 849/ dk A h 811 R¥ 3,589 | #LIR T 5,524 RERTH 35,171 flh&ETH 51,821
10 #&/ETH 17,079 K;ETH 1,190 K¥mh 1,550l & H 844|KFth 809 & 3575/ = LU 5,495 K;Eh 33522 R ¥ 51,773
11\ #hiah 17,059 FEH 1,182 R AR X &B 1,481 Kfrth 817 IR ANX AR 787|128 Em™ 3,561 %K 5421 B 33,185/ )11 51,454
12| KFrth 17,047 B RFFtH 1,180 I B 1 1,480 &L =FH 786 R¥ 786 ™ 3,549 | B AR X & 5393 B HE™ 33,166 F& =™ 50,717
13T 17,000 | #&;ETh 1,179 R TH 1,446 R¥FH 784 fllET™ 785 | R 3,522 | B 5,362 &% 32,781 | KiETH 50,604
14| F™H 16,876 | BRI &R X &B 1,170 ;EfATH 1431 E1Uth 7183 ERE™ 774 SWV=FETH 3516/ 5341 L& 32,736 | F#&RTH 50,525
15/ 4L i h 16,851 REfmh 1,158|&LVvi=E 1,430 &% 774 =ZBTH 13| &EHT 3,506 K;EmH 5,329| Kx 32,610/ Kfrh 49,443
16 fR#R[RH 16,779 #HFERTH 1,155 1,425 Bt 763|111 767 FEE ™ 3,486 |=LVi=FmH 5,229 tHETH 32541 A EM 49,160
17| RI&GH 16,699 | #AILTH 1,130 K 1,408 & %0th 749 KEET 760 | #L1E 3,446 3Rt 5,202 ;E¥ATH 32,397 RI&GH 49,156
18|f&2[™H 16,554 | =LVi=F 1127/luAth 1,386 #XHA T 733 B U 739 /At AL T 3,441 | &R 5,038 &R 32,261 ;E/TH 48,614
19 2HEM 16,505|dk AL 1,086 |[L & 1,375/ 721 | fAHR[R T 735 ELlUTH 3,399 L il 4,858 HItB™H 32,252 | & [EH 48,313
20 ;E#ATH 16,366 Z i ETH 1,084 |1RH 1,354 LR H 719%™ 134\ ¥iETH 3,389 | KRR 4,803 FE =T 32,073 /AL il 47964
21 FFrumh 16,278 E LU 1,068 | K& H 1,353 | f@[E T 716/ =FE ™ 733 | B& [T 3,368 K& 47117 E¥ T 31,077|ReXTh 47,823
22 FFRE ™ 16,228 £ & 1,056 R fFTH 1,348 BT 712|488 726 | F2[E™H 3,335 | HitET™ 4703 Z=BTH 30,934 2R 47470
23| EIRET 16,176|[LB&Th 1,053 | fERTH 1,346 dt i 707|&R™H 714 |BIFE™ 3,328\t TH 4,693 f2ETH 30,900\ #F 47,357
24 #XHETH 16,142| )11 & H 1,016 =B 1,334/ &Rt 688 | IR&RTH 7113/lET™ 3,311 |lLufsTh 4,673 RERET™H 30,671 ERRFTH 47275
25;&m™ 15,931 | I B H 958 KiETH 1,317 R 663 | fHF ANE-=40 3,260/ J1|I&TH 4,651 db L th 30,258 ZRTH 47252
26 Koh 15,748/ IlLOTH 940 S #ATH 1,305|f8 & 655 FX AT 678 KT 3,231 | #¥ITh 4548 ILFzTH 30,252 | &R 47,020
27 LB 15,722 St th 927 m&RTH 1,289 {£E ™ 654 = 0T 665 f@Fh 3190\ F&ETH 4497 3RtH 30,066 EERET™ 46,913
28llETH 15,540\ 7K E tH 904 | t&RE 1,262 Ki#Em 650 f&8FH 654 )KE ™ 3,185 EHRTH 4,488 B FFTH 30,013/ ¥ 46,887
29 HRANX &R 15442 fEE™ 895 fEET™ 1,230 F &% 634 | ITh 648 ZR™ 3177/ ET™ 4488 RI&GT™H 29,931 | U™ 46,605
30|SLV=FE T 15,3415 859 ELUh 1,225 BB fFTh 616 | B[ 639 #3iT 3,089| &R 4,462 t2RET™H 29,741 &R 46,551
31|FHEH 15,253 Lz th 853/ )&t 1,219 ;E#TH 597| K& 632 Ri&™H 3,047|f2HH 4412 EHFH 29,701 | =& 46,127
32|[E Lt 15,168 li&TH 808 & 1,162|F&ETTH 580| Ko 615Kt 3044 =R 4,356 BRERTH 29,397 ELUTH 45,964
33 B 15,149 | {&[EH 805K 1,135|EEIRE™ 572 | BB fFTH 609 | LUz 3,016| ¢ 4326 ¥ITH 28,764\ K ETH 45,597
34| )1|&TH 15,016 KIGTH 798| lLUfs ™ 1,126 | B[ tH 552| F & 605 &R 3014/{kE™ 4309 J)KETH 28,750/ {2 & 45,491
35 B 14,991 F&#=EH 794 | [ LT 1,108|#f8FH 551 & 602|;EH 2,990 | t&[E 4260 f23H 28,597 I B 45,248
36 [ #lUTh 14,955 | #0FkLUTH 793/ 1,080 F0Fx L 542 | BiItE™H 575 BT 2,965\ K Eh 4259 I B h 28,566 &M 45,174
37 I B 14,885 |[@LLUTH 790| K4 1,041 [EE&™H 538 {EE ™ 567| =& 2,929 ;& 4,030 ALMETH 28,3313Rh 45,147
38| luat 14,775 f2FH 785 & E T 993 ¥A; I 509 fRfE 554 f& [t 2,869 [ #aLth 3,990 LB 27419458 45,013
39\ fEET 14,755 Rt ™H 756 | AIfETH 935 | RIfE™ 503| =& 553 #ALUTH 2,769|[EETH 3,960 ;Eth 27,390 KHth 44,352
40| & R™ 14,630 X H 746 |f2FT™H 914 & 495 RI&T™H 525 |l & /1 2,681/ BEATH 3,945 = &TH 26,903 R Fm™H 43234
41| 3REEmh 14,612 #0:TH 729 | FAHTH 909 | = & 491 | FE=EH 523 F0FRT™ 2,662 ;EMTH 3,893 REARTH 26,829 [ &TH 43,016
42 S 14,507 B[ th 717 #03xLtH 863 BT 489 fLiEH 517 BEART 2,655 ERET™ 3,892 B Euth 26,822 L1 42,045
43| UfsTh 14,460 25 TH 712/ #8T v 849 ;Eth 438 lLAT™H 513/ &m™ 2,642 F0Fxu™ 3840 EERET™ 26,687 EEWTH 41,924
44| =B TH 14,348 BEATH 700 | BX [ Th 839 I B h 431 @i 480 EEIRET 2,575 &t 3,839 Ky th 26,604 t8H 41,773
45 )KEtH 14,266 | #LiRTH 666 {25 830 #ALTH 417 \/EE™ 468| [ B TH 2,564k B 3,708 =40th 26,560 & 0T 41,743
46| B E™ 14,256 FKETH 660 F & 790 Ko 415|IE B Hh 450 S#ATH 2,545/ lLA 3537k E™ 26,397 BT 41,734
47 |RitE™ 14107 5 &% 657 | #LIRH 754 BEATH 392|;FH 440 Knh 2,400| =& 3525 fEET™ 26,055 ;& 41,431
48 | REfE ™ 14,106 & %0th 492 'R ET 556| 7K B 379 B 429 1lLAT™H 232|fEET™ 3,484 [ LUTH 25,408 | #A LU 40,410
49 ¥ mh 13,411 B 464| = BT 543/ lUO™H 378/ Lluth M8 fEET 2,336 | @ LU 3,464 ¥ UTh 25,207 | LU 39,923
50 = %0Th 13,107|ERET™ 387 EWT 492 FARERTH 332|[LET™ 371 [ uth 2317|550 3,352/1lLAT 24,432\ #FFrLH 39,909
51| BREFh 12,978 B I&TH RYRIE=E i 479 BB 330|REARTH 361 | BBER™ 2,315\ Ko 3,227 &#ath 23,969 S#th 39,452
52| f@Fh 12,845 AR ERTH 301 | AR 307 [ Lth 318/ AR 253 & f0h 2,288 R ERTH 1,890 F0FxILUTH 23432/ LA 36,606




ERER 20214 ($F134) ~2023%F (HH15%) F4
IOEH TOFED MELB NESE FpoY) ZpoY Y HY N
—————————— <& EB- |———<HE: - | KB - | —<¥E: - | X - |————HEE: - | E B |——<HE: - |——<E -
0 2H 1,811 &H 1,587 &H 1,546 ©F 3,597 &= 3,305| &= 7,465 £ [E 2,082| &= 4321 £H 7,945
1 #Fhiah 5,345 Friath 4,816 #ETh 2,078 #ETh 4,316/ )II&TH 4,157 RiIt&™ 9,976 |#&ETh 2,878 AR 5816 FEm 10,589
2|RAT™H 3,356 | FAHTH 3,127 FFEH 1,974 FEt 43032 ETH 4,143 R¥h 9,780 | FR#&RTH 2,842 tA¥E[R T 5,765 R RARX &R 10,298
3 RHEARXEB 3,105 FEH 2,445 HHERT 1,923 #FhiBth 4214 AR 4142 2B 9,601 FEH 2,807 #rath 5,739 =LV-FE T 9,964
4\ ¥EEH 3,000 B IR ARRX &R 2,396 SLV=F T 1,907 =Rt 4121 ¥R 4,117 HEEES 9,468 | Fiah 2,744 ¥EETH 5,722/ )11t 9,797
5 FFmh 2,813 &t 2,393 | R X &F 1,887/ &L V=FTH 4113| FEH 4075 HFFTH 9223\ F&H™ 2,689 FETH 5,645 #Frigm 9,787
6 RART 2,491 | fRHE[RE T 2,207 ®kEHTH 1,865 #LHE T 4110/ HI#E™H 4060 FEh 9,036 FkHTH 2,673 #XHT™H 5473 R T 9,781
7| &L =FEF 2473 &WV=FTH 2119|115 TH 1,861 FHIEE ™ 4,083 B fFTH 3,989 #EETH 8,830 BRI AR X & 2,622 HEFHM 5,270 | #& KT 9,715
8 fRIEIE H 2,395 E&[tH 2,031 &2 1,844 #¥iITH 4,070 R AR X &R 3,966 FH =T 8,713 HHERE™ 2,590 SLVi=FTH 5177|FR&RTH 9,397
9| BRI 2,344 LRz TH 2,030/ Z LU 1,834 1R 4,045 3,883 &LVi=Fh 8,709 &R th 2,534 R AR X &R 5151|RiltE™ 9,380
10/l & H 2,337 il 2,023 L& 1,830 E LU 4016/ =LV\f=FH 3,829 LLUFsTH 8,667 = LUTH 2510 B HE™ 4931 Z1LUH 9,325
11115 2,298 HHH 1,979|2;Rth 1,824 E¥th 4,009/ LUfsTH 3,739 il 8,602/ =L =FH 2,506 )11 tH 4873 KiETH 9,053
12| lURsH 2,154 &R 1,965 2 G EH 1,802 B ETH 3,998 K¥h 3,680 & TH 8,549 )1|I&H 2,504 | KiEMH 4,849 fHFETH 9,024
13 FH™ 2,095 BT 1,926| &R 1,760 | 8% [EtH 3,995 L& 3,661 JIlIETH 8512 B HET 2412 =BT 4,790 B HET™ 8,906
1488 2047 2 HET 1,771 | $7iath 1,756 | &R T 3,980| F&ETH 3,600 REATH 8,392 #L1R 2,397 KBRtH 4,746 FH = 8,784
15 2HEM 2,022 J1|I&TH 1,720 =B H 1,729 £iRH 3,975 WITh 3,594 = &H 8,336 K;ETh 2,382 ;E¥ATH 4,733 &R 8,761
16| KEMH 1,955\ A th 1,711 E¥h 1,710 R H 3,970 dt A T 3,532 R ARX &B 8,335 ETh 2,365 FH =™ 4,721 |%8F™H 8,692
17/ &EmH 1,900/ 2 &M 1,630 3R 1,684|)111&tH 3,949 FRETH 3,517 B[t 7,929 Lz TH 2,352 | BERATH 4,663 F5[ETH 8,664
18| B&REH 1,897 K:EMH 1,587|f@ & 1,665 BEREH 3,886| &Rt 3505 ERE™ 7,892 ;EHnTH 2,348\ &Rt 4,625 Krth 8,655
19128 1,814/ =B 1,569 ;E#ATH 1,656| X;£tH 3877/f@#tH 3,467 /At A Th 7822 |f@H 2,266/t i 4613 550TH 8,605
20 &R 1,800/ I & 1,542 | LR TH 1,654 Il&™H 3,839 ELUTH 3462/ {E&™ 7,817 KR 2,245 ALIRTH 4510 ;E#¥ATH 8,525
21 3™ 1,785|F &= TH 1,530 R fFTH 1,617 KFrth 3,830| B¢ 3,457 RIGH 7,730| B¢ 2,231 5T 4,474 FETH 8,381
22| KBrh 1,761 KBt 1,511 | &R H 1,614 R ARX &R 3,821 | & h 3,448 Kynth 7,720 | B [ETh 2209 {2 &t 4423 EZRTH 8,043
23 RiItE™ 1,686 1R TH 1,488 | K:EMH 11,6128 ™ 3,729 | FH&RTH 3,330 kKFTh 7640 =R 2,195 &% 4414 I ETH 7,920
24| BT 1,680 | #0FxILTH 1,459 |BiI¥BTH 1,606 #LMEH 3680 ZHE™ 3,305 #AITh 7,450 FHETH 2,098 RErH 4,402 |t AT 7,848
25 B fFh 1,604 &Rt 1,427 #F ™ 1,601 f28&H 3,662| EERTH 3,281 #EATH 7,390 AT 2,094 |1RH 4,365 HHH 7,819
26 FE =™ 1,575 Ril4&™H 1,421 )KEtH 1,564/ #FTH 3,654| KPR 3273 HHET 7,360l & 2,082 {2 ™ 4,351 {&E™ 7,590
27| F0Fruth 1,546 | ¥AILUTH 1,404| F&EH 1,525|IK & th 3,629 R AR TH 3,265 =41 7,320 3R 2078 lET™ 4,326 ¥ ITH 7,558
28 ;EHATH 1,522 ;E#ATH 1,382 | K[ 1,500 EEIR & 3,614 }E»%Fﬁ 3,218 &R Th 7,231 AL il 1,978/ f8HH 43193 7,526
29| ¥ 1,505 B 1,360 |#\TTH 1,489 [ &TH 3,608 K& 3,217\ K#EH 7,168 ¥ 1,954k &H 4313;Fm™ 7,524
30 Euh 1,458 EHEth 1,309 1,486| F&RETH 3578/ =R 3,159 F¥[E™H 7134\ Ix B 1,929 fE BT 4,308 RI&GTH 7,499
31;&mH 1,416/db L h 1,299 I B2 1,484 R fFTH 3,554 KHorth 3,156 =BT 7,080 | #0FR LT 1,922 I B2 1hH 4,290 ALIRTH 7,487
32|)KF T 1,385 & #ATH 1,290|f8FH 1,397 ;E&H 3,550\ KT 3,141 E U 7,042 R¥FH 1,894 BEARTH 4271 )KETH 7,344
33/ LA 1,383 K&t 1,285| Lz 1,391 |Bi4ETH 3522 HE&H™ 3,137 F0Fruth 7018 5#ath 1,879 ELlUTH 4243 EgH 7,238
34/ ¥AUTh 1,365 R fFTh 1.271luAh 1,387 ;E¥ATH 3,498 ™ 3,129 &R 6,998 ;EtH 1,872\ ¥ItH 4236 BBRFFTH 7,228
3B LET 1,348 ¥ T Th 1,264 [ & 1,371|7KEtH 3,491 | K;ETH 3,104 KBRtH 6,936 S HR T 1,872\ FTH 4,216 (L& 7,194
36 f&RH 1,328 [ & 1,249 & %0th 1,368| = 5 tH 3412|[LETH 3,100 f&2Fh 6,792/{E& ™ 1,857| I TH 4,198 f&REH 7,183
37\ &40t 1,313;&mH 1,239 & 1,354 BEATH 3,449 | B TH 3,064 ALMEH 6,751k EtH 1,808 Ky 4,167 EEH 7,161
38 B 1,311 kB 1,238 &% ™ 1,353 #2 3,437 ;E#TH 3,054 ERth 6,744 t&2RE ™ 1,805 | #0Fk LU TH 4,124 | BERE™H 7,095
39 RIGH 1,299 =40tHh 1,192| RIGH 1,333 |t&2[E T 3,420 I BBy 3,038/ 6,722 B fiFh 1,758 | H#ETH 4,055 BEATH 7,084
40 #3iTTh 1,294 ZElLUtH 1,171 |%8R™H 1,319 Uz Th 3,390 AR TH 3,022 I BT 6,696 | = & 1,715);#H 3,947 Enh 7,080
41 St 1,285 &M 1,154 =& H 1,311 | & 3,366 | &[T 3,008 f&REH 6,580 fEE ™ 1,709| = & T 3,898 f2&Th 7,064
42| fEE™ 1277/ EH 1,125 #2Uth 1,308/ db AL T 3,348/ 2980 [5ETH 6,504 BiItE ™ 1,681 BELH 3842 [LETH 6,874
43 LR 1,257 ERE™ 1,106|db L 1,280 &40t 3,339 | ALIRTH 2,956 ;E¥ATH 6,489|[L & 1,666 & %0TH 3,794 A ETH 6,866
44| Knth 1,189 XHth 1,090 BIRE™ 1,274 BB 3,333|fHF ™ 2,938 H&HH 6,454 Ko 1,640| RI&TH 3,793 Koth 6,841
45 8H 1,160 B AR TH 1,082 | BRERTH 1,195| Ky 3,311 |=%0h 2,921 =#H 6,418/lLOTH 1,639 #2LLThH 3,703 [@LTH 6,821
46 |REARTH 1,132 %B%ﬁ?ﬁ 1,014/ 8™ 1,191 5 &H ™ 3,285/lLAT 2871 fEET™ 6,412 RiI&TH 1,630/ 7K ETH 3,679 FF;TH 6,796
47 |[Eth 1,049| #L 1R TH 983 {E& ™ 1,185/lLaH 3,234\ ETh 2,786 #¥AUTH 6,302 #ALLTH 1,596 | FH fFth 3632 ERET™ 6,702
48 R ET 1,049|f8FH 982 | fnFruh 1,182 #0Fk LU TH 3219\ ¥ LTh 2,741 T 6,275 'R E™ 1,537/ lLaTh 3,538 #aLth 6,207
49 1IuATH 1,049/ 1LO7H 963 REATH 1177|#EE™H 3.182| FnFr 1L 2,717/ 1lLAt™H 5,996 | REATH 1,534|[LE™ 3,505 LUz Th 6,173
50 = W5 H 963| B I&TH 944 [ LLUTH 1,145|%8FHH 3,168 & ath 2,690 R 5,968 .‘%‘%ufﬁ 1,475 EIRB™™H 3429/ 1lLAth 6,111
51 #Erh 953 |[# U 903 EHRh 1,082| [ LU H 3,008 |[# LT 2,529 [E LU 5,275 @ LUt 1,468| [ LU TH 3,132/ f0Fr Ut 5,997
521fkE™ 952 & E™ 895 K4oth 1,073 ARERTh 2,526 ;&mH 2,265 ;&M 5,243 AR ERTH 1,369 ARERTH 2,621 5¥H 5,721




ERER 20214 ($F134) ~2023%F (HH15%) F4
g8 EF—<> E—<> HELULV=F HELULMV=1F LoHL L&HL ZDE=1F ZDEf=1T
———————— HBE: g |————<E - |—HE: - | B - |—<¥E: - | E - |————HEE: - <& B |—<H}E: -
WESES 11,218/ £H 2,252 | &FH 2,831 2F 1,933 £H 1,546 £ E 1,738/ £H 2,751 2F 1,220/ £H 2,593
1FEm 14,967 &R TH 3,005 tA¥E R 3,656 FXEATH 2,394 | FRAT 2,290 {2 &Th 2,267 | fBE&™ 3,463 Friath 1,725 E¥ 4,279
2\ f&EET 14,407 | fB#E R TH 3,005 |#&ETh 3,644 ELUTH 2,309 fEET™H 2,162 Fiath 2,137 KEH 3,368 REFh 1,645 Frigmh 3,763
3 fREIRE T 14,077 R H X &R 2,998 SLVv=F T 3533 R 2,289 | H T 2,002 lLATH 2,108 &t 3,351 EUh 1,614 Z LU 3,509
4358 13,968 #&;ETh 2,971 | R AR X &R 3512 I B 2,286 | HART 1,850\ £ h 2,065 l& 3,338 lUFzTH 1,472 Ei&T™H 3,447
5/ &LV=FH 13,734 ELv=FTH 2,910 FR&RTH 3,454 ;E¥ATH 2,246| Ik B 1,834/ & 2,055 | T 3,250 &R 1438 EIRET™ 3,225
6 RiItE™ 13,724 )15 h 2,735 FET 3,445 HHRTH 2,235 iltB™H 1,795\ [ & 2,010/ #B¥& R 3,201 | B TH 1,392 /I B vh 3,151
7)1 13,552 FZEH 2,727 | BREATH 3374/ fEETH 2,181 =R 1,792 )k B th 1,987 |18 tH 3,196 BHExtH 1,386|BEATH 3,133
8 R AR X &R 13,281 BRERTH 2,586 KPR 3,321 | fRHE R 2,155\ &R 1,763 #3Ih 1,983|[L & 3,180 ¥\ Tth 1,386 ;E#ATH 3,074
9 FEEH 13,070 XBxth 2,585 # P TH 3241 FEH 2,138 ELUTH 1,739 &#ath 1,979 EIRE™T 3,172 ;B TH 1,379\ &R 3,011
10| &R TH 12,824 #L 1R H 2,549 )1 & 3,202 HiItE™ 2,130\ griah 1,738 K:iZth 1,973 K¥h 3,161 I Bh 1,366/ LUz TH 3,004
11 f#@AH 12,711 | KEH 2,528 | Fimth 3,131 H&HH 2,127 FET 1,731 fH#ERH 1,934 #0TH 3,105 K&th 1,365 ¥ T th 2,967
12| KEH 12,362 | fHEH 2511 | KEH 3,130 &R 2,124\ KiETH 1,721 EERE™ 1911 FXBH 3,085 @B 1,362/ {£& ™ 2,950
13T 12,212\ $:8H 2,480 3& 3,109 i 2,110 B 1,694| = IlLUtH 1,898/lLOTH 3,009 LA 1,353 /L L T 2,934
14| BEARTH 12,175 8% [ ™h 2395 | ZHEM 3,042 E&TH 2,092 Kirh 1,689 F 1,884 K& th 3,004 f&2FHTH 1,349 ;& 2,932
15 fF ™ 11,756 B & B 2,395 ¥ T 3,024 K:ETHH 2,086 | ALIETH 1,687 | BX[Eth 1,874 KFtH 2,990 S%0tH 1,347 |8 FHH 2,917
168 ™ 11,634 =BT 2378/ lET™H 3016 ZHE™ 2,071 | B[ 1,631 BELH 1,871 BELH 2970{EE™ 1,346 & %0th 2,844
1725 EH 11,631 {lETH 23712 =BT 2,996 | SLV=F T 2,050| FE = 1,624 B fFTH 1,865/ FFEmH 2,957 REARTH 1,307 K&t 2,838
18| BT 11,595 ;E#ATH 2,362 |BEARTH 2,984 R RARX &R 2027 HET 1,620| LAz TH 1,854 ;FH 2947 BHET 1,307 B ELH 2,793
19|€RtHh 11,547 #3TH 2,353 | B8R 2,953 &R 2,020 ST 1,618/ &R 1,822| Lz TH 2,936 1,302| KHh 2,785
20| Kprh 11,481 38t 2,329 | t&[E 2.912/3Rh 1,996 | #3Th 1,600 =Bt 1,817|8eKRTH 2,897 K;ETH 1,300 ¥ AT 2,748
21 B 11,332|F & ETH 2,320 | Ri¥E™H 2,899 & ETh 1,992 | Ei&TH 1,599 | F&ETTH 1,817 ;E#ATH 2,866 R E™ 1,293 ZHET 2,719
22| E&T 11,316 #KEAT 2,310/ FkETH 2,866 ;EH 1,981 Uiz hH 1,597 FEmh 1,816 B fFH 2,864 FhHTH 1,292 =B 2,701
23\ Esnth 11,294/ €Rth 2,298 | ALIRTH 2,843 KBrth 1,968 ;E#ATH 1,593 | B[ h 1,814/ fEE™H 2,859 fEETH 1,287 |$&fETH 2,694
24| AL A 11,079 | &R TH 2,247 AL AT 2,830 ALIRTH 1,967 | #ETH 1,585| K& h 1,806 &L V=FTH 2,828 & 1,269 3R tH 2,682
25 BRI 11,074 ZUH 2,163 ¥ 2,806 STH 1,959| &LV =FE T 1,570 ;E¥ATH 1,799 | db AL T 2,806 & 1,267 | L 2,667
26/ KF™ 11,062\ [ &TH 2,156 | @ 2,805 {8 HmH 1,946 LETH 1,561 #EATH 1,798 3Rt 2,762 AL A Th 1,256 A & 2,633
27 EMATH 11,061 | Ril4E™H 2,150\ RE™ 2,790 | % [ETh 1,941 R T 1,559 | E™ 1,753 |#EH 2,756 | BE[E ™ 1,250/ {ll&H 2,607
28 | & [EH 11,028 | t2[E T 2,146 ;EfATH 2,790 I EATH 1,940\ L& 1,549 #2lumh 1,752 | #0Fr L H 2,756 | [ LU 1,248|[LB&T™H 2,594
29 FER™ 10,964 5 & 2,132| K5 2,750/ 2B 1,915;#tH 1,542 H&F™H 1,738 FR&RTH 2,753 | &M 1,235/ lLATH 2,589
N ERET 10,855\ 7K thH 2,122kt 2,738 KFETh 1912/ K&t 1,536 RI&™H 1,732| KB 2,745 [ E&TH 1,227| KB th 2,580
31| BH 10,834 b L Th 2,107 ER 2,701 | JI[I&tH 1,912 #0Fr L H 1524|188 H 1,722 RIGH 2,742 ¥ UTh 1,224 | Rk ™H 2,535
22LETH 10,795 REARTH 2,094 L& 2,686/ IlLAT™H 1,901 | BEKTH 1,518/&LVi=FH 1,721 |1 T 2,719 =R 1,217 &#h 2,508
33 R 10,778/ t2 & 2,081 &E&H 2,677 BEFTH 1,900k Bt 1,502 | ¥ EmHh 1,713 | &R 2,718 KPRt 1,199 | #H#E[E 2,505
34\ fEHTH 10,652 R¥vmh 2,059 | FHETH 2,666 #AITH 1,887 RIGTH 1,498 1| I&TH 1,709 ElLUtH 2,714 &R 1,168/ ¥ALLtH 2,493
35 &R 10,450 B EH 2,014/ &Rt 2,643 FHET 1,872|#F™H 1,495 KRR 1,707{&E8 ™ 2,710 RER AR X &R 1,157 B g 2,480
36| RE™H 10,170;&H 1,994 2B 2,627 EEH 1,853 | R AR X &B 1,489 | BEATH 1,705 F#BEH 2,695 HItBTH 1,154| &LV =FH 2,464
37| 10,106 B fFh 1,975 =&t 2618 EIRET™ 1,824| BfFH 1,489 dL L th 1,692| I B 2,688 =#ATH 1,142 | F03r L 2,432
38 #L1RH 10,010/ R I&H 1,936| I B 2594 | [RETH 1,813|1R 1,486 | R R &R X &R 1,676|BiItETH 2,683 &LVi=FhH 1,142| =HERTH 2,417
39 HFFh 9,938 I B h 1,921 | B FFH 2,591 KHh 1,798| %@ h 1,483 BRERTH 1,669 | BRI AR X &B 2,656 )11 &TH 1,132/ 2Bt 2,395
40 |[#]luth 9814 {kE™ 1,903| & %0th 2,582 /AL Al Th 1,796 f2HH 1,442 | Eil&TH 1,665/ f8FH 2,641 fBE[RH 1,127 R H 2,384
A [LEET 9,714 lUfsTh 1,876/ H 2,573 lUfsTH 1,791luOvH 1434|%8HH 1,664 82 H 2,640 IRERTH 1,118 R &R X &] 2,367
42 9,706 K5th 1,860 R I&H 2552 {E&™ 1,785/ t2&TH 1,429 & 1,658 t2[EH 2,626 A TH 1,109 FEh 2,318
43|fBE™ 9,650 EEIR & 1,805 E ™ 2,468 RI&GTH 1,780{£E ™ 1,401 g4 1,639 |FE LT 2,600 ##ETh 1,100| R tH 2,315
44| Knth 9,639 fEET 1,799 | &#amh 2,423 lbETH 1,771 )11 tH 1,392 ;& 1,610 5 &% H 2573 F&HT 1,087 | #& [ th 2,305
45 BELH 9,625 LT 1,799 | #0 8k LT 2,399 R¥Fh 1,761/ db AL th 1,388 |t2[E™H 1,604 | #L 1R H 2,565 FFFTH 1,086 | #&;ETh 2,298
46| fEET™H 9,616 &#ATH 1,754| ZlUtH 2,372 BEEARTH 1,720 EIRE™ 1,373/ &R 1,590/ &R 2,534 Ri&™H 1,086 1| U 2,295
47\ FgEmh 9,357 BT 1,751 | LT 2,359 | #1ZxIUTh 1,714/ $8[EH 1,359 & E™ 1,588 = &0tH 2533 FEmH 1,075/ F#&%H 2,282
48|z 9,003 FOFxr LT 1,748 #aluth 2,346 SH0TH 1,708 | #a Lt 1,320| & LU H 1,578 ZHEH 2,530 ALIE 1,055 FtH 2,270
49 #ALlUTH 8,834 E40Th 1,734/ 5B 2,325 f&fEH 1,667 K& ™ 1,294l B2 H 1,570 %21t 2,469 F0FrLTH 1,037 | #L1ETH 2,096
50 #0Friumh 8,660/ ILOTH 1,669|lLUfsTH 2,270 | uTH 1,560 [ LLUTH 1,243 #L1RH 1,551| & tH 2449 KE T 1,020\ 7K FtHh 2,042
51 luB@ 8,124 {8HTH 1,6511LOTH 2,078 Ll th 1,524 & %1th 1,223 &%1th 1,476 FXATH 2,370\ F&ETH 988 | FHR =™ 1,910
52 &t 8,104 #AILTh 1,620 f@H ™ 2,020 BRERTH 1,372 | ARERTH 845 NI UTH 1,411 3 FH 2,198 FREwTH 926 ARERT 1,524




TR
monEDZ thoEDZ mDEEDZD HDETFEDZFDH
—————————— & BBD- |—<HE: - | <F - |—<HE=E: -
WESES 2,429 2 [F 2,602 2F 4595 £ F 6,846
1 #@H 4,045 LfzTH 4,382 AN ErTH 7,723 R F;™H 12,445
2/ lLUfgTH 3,967 FATH 4,344 R E X &R 6,728 & 10,662
L& 3523 Ml& 4,118 RIGT™H 6,724 SN-FETH 10,233
4 Z1uth 3,354 Frimmh 3,794 t8REA ™ 6,604 B ARX &R 9,680
5 #riam 3282 ELUTH 3,769 [#&ETh 6,312 #ETh 9,280
6| K 3,209 R¥rh 3,750 | &L V=F T 6,106 {2 9,047
7\ BX[MHh 3,208 €& Rh 3,392| FEmH 6,072 FEH 8,744
8 tgEm™ 3,198 B[ ™H 3,282t Ml 5,645 HHERT 8,717
9 R ARX &R 3,080 H&H™H 3,234| KPR TH 5,418 ;E¥ATH 8,537
10/&RH 3,022/ ELV=F T 3,223 #A1E[R T 5,380 KB 8,254
11| EW=FH 2927 8B 3210 Fiamh 5,370 AL AL Th 7,830
12| 5&HM 2,918 fHHE R 3,144 ;EMTH 5,168 Friath 7,695
13 1R T 2,881 | FEH 3,025 T 5,138 FHFFTH 7,564
14| F8=H 2,828 B ERX &R 3,021 | K& 4968 iETH 7,080
15| #&/EmH 2,798 HiItg™ 3018 B HET™ 4881 2 E™ 6,971
16|15 2,791 ¥ ETh 3,003 | )11 &t 4,747 HiI¥BTH 6,920
17|RiIfE™ 2,633 FH = 2,954 FE = 4,666 KEFTh 6,901
18| FEH 2,603 JII&TH 2,940 iETH 4643 KiETH 6,764
19| &R 2581 KETH 2,799 B fFTH 4596 JKETH 6,728
20|kFth 2,573 KiEth 2,796 FH&RTH 4590 ERE™ 6,632
21 | &E™H 2,573 &R 2,774 3™ 4411 FTH 6,601
22 K:EMH 2,559 R fFTH 2,713 BE¥th 4388 FEETH 6,541
23| B HET 2,478 ALIRTH 2,681 #3UTH 4371 )1IGTH 6,400
24 BEFTH 2,396 ;E#ATH 2,680 |[# LT 4344 BIGTH 6,258
2532 2,350 IR &R 2621 FERE™ 4,328 #AUTH 6,208
26 ;EHATH 2,337 2 HET 2,565| Kot 4,322 [EILTH 6,132
27| Kirh 2298 =RTH 2,527 | B¢ 4271 BT 6,086
28 | #LIEH 2,298 KBRth 2,492 | =& 4187 3Rt 6,083
29 FER™ 2270| Ik BBy 2,463 |HIHETH 4133 KHoth 6,048
30 AT 2,256 [LETH 2,377 ®kETH 4123 RBEARTH 5,967
31| Eth 2,236|3Rth 2372 |BE KT 4,021 72 5,902
32;&m™ 2,156 ;&M 2351 =R 3,939 ;M 5,759
33 f@HT 2,106 fHETH 2,338|)KF T 3,891 AR 5,672
34|\ ITH 2,074 ¥iITH 2,272 | & [@EH 3,887 =BT 5,541
3B LET 2,066 EHH 2,261 |[ET™ 3,785 lUfsTh 5,425
36 S EnH 2,058 f&@Fh 2,243 3,782 [LET 5,405
37| &t 1,904 S th 2,231 fEE™H 3,732 fEETH 5,229
38| LUt 1,867 EIRE™ 2,161 | Ufizh 3,483 Ik B h 5,159
39 fERH 1,842 | LTH 2,011 |&R™ 3,366 {E&™ 4,984
40| lLAT™H 1,828 BEKTH 1,991 8 H 3,335 ®kETH 4933
41|8eRTH 1,791 %8/ H 1,979 ElUTh 3,259 EHnh 4,731
42| FRERTh 1,785 LLATH 1,953 | #3Tth 3,193/ #TTh 4,695
43| ERET 1,747 | #0Fk U TH 1,899 | 4Lt TH 3,158 ALIRTH 4,687
a4 db T 1,742 AL Al 1,865 |l B th 3,136| &Rt 4,359
45 K&t 1,695 Ky 1,796 {2 & 3,027 {&8HTH 4,343
46 FOERLLTH 1,610{&£& ™™ 1,786 | = &0TH 3,024 #nFr LT 4,164
A74EET 1,592 RIGTH 1,775 BEH 3,015 S4%0th 4,075
48 S4ITH 1,591 ARERTH 1,764|f8FH 2,899 ELUTH 4,009
49| Ko th 1,554 fE & 1,760 F#& 2,606 {2 &TH 3,976
50| B & Th 1,525| = & tH 1,702 | F0 gk L TH 2547 B&H%™ 3,889
51 #Uth 1,499 S 40th 1,575/luaTH 2516/ 1lLAT™H 3,471
52| fEET™ 1,472 3 luth 1,552| & 2,300 S#TH 3,276

20214 (M 34F) ~20234F (HF5E) Fi5



